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Total 100 points

1.. (10%) Convert an octal (8 Z4) number, (50321.467)s, to 2 hexadecimal (16 #4)
number. '

2. (10%) Describe functionalities for three components, in¢luding mobile nodes, foreign
agents, and home agents, in mobile IP.

3. (10%) What is the diﬂ‘erenqe(s) between call-by-reference and call-by-value?

4. (10%) Compare long-term scheduler and short-term scheduler used in operating
systems,

5. (10%) In object-oriented programming, which two parts are typically needed in an
object?

6. (10%) Which of the following are the properties for local arca networks (LANs)?
A. Dedicated point-to-point line
B. Most use a store-and-forward, packet-switched technology to deliver messages
C. The owner of the devices is also the owner of the means of communications
D. Connects hardware devices that are in close proximity

7. (10%) Compare two data structures, stacks and gueues.

8. (10%) Describe the functionality for a program counter in the CPU architecture.

9. (10%) Describe the differences between compilers and interpreters.

10. (10%) Visit all nodes in the tree below based on inorder traversal. Show the sequence
of visited nodes.




